
188

00121460

(2x)(2x)

L

L

M8 HS 10-
M8 x 20

42

10
0 B

A

Ø8

Ø8

76

10
 ..

. 2
3

00109463

73

2,
5 

...
 4

M8x20

00109457

F

E

00111378

9042

L

G
C

F

E

00139030

100

45

4

8

40

30

E

F

H

D

G

MPS 7.0 | Components 3 842 538 281 (2017-10)

Supporting brackets 
Foundation brackets 
Table top supports

L (mm) ESD No.

A Left supporting bracket, with fastening material for 10 mm slot; material: sheet steel; 
powder-coated, RAL 7037

255
ESD

3 842 536 119

335
ESD

3 842 536 121

415
ESD

3 842 536 123

495
ESD

3 842 536 125

B Right supporting bracket, with fastening material for 10 mm slot; material: sheet steel; 
powder-coated, RAL 7037

255
ESD

3 842 536 120

335
ESD

3 842 536 122

415
ESD

3 842 536 124

495
ESD

3 842 536 126

C Foundation bracket; material: sheet steel; galvanized 160 20
ESD

3 842 146 815

210 20
ESD

3 842 146 848

D Table top support, with fastening material for 10 mm slot 2 3 842 521 677

E M8x20 T-bolt 100 3 842 528 715

F M8 flange nut 100 3 842 345 081

G Floor dowel 100 3 842 526 560

H Table top 3 842 998 250


	Manual Production Systems
	IVZ
	Components
	Supporting brackets
Foundation brackets
Table top supports




